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I 2' Knowing that P(r): 
fcos 

t, *] o a trigonometric point located in the 2nd quadrant, determine
-73

sec f: n
_72

cosl: E 5
CSC f: 13a)

d) tan f:
-5n

c)b)

e)

1'z

-12
cot f: 5

l3- Fot each of the following trigonometric points, give the two possible values for the missing1.coorolnate.

c) P(..., 0.6) + o.8

Ji
-g f) ,{ ,+) .+

t *- A trigonometric point p(r) has an x-coordinate of cos r : 0.g.
al If the point P(r) is located in the 1st quadrant,

1 . determine the y-coordinate sin s. sin t = 0.6

2. deduce, in degrees, the value of r knor,ving that 0 < r < 90".
t = 36.9'

3. deduce, in degrees, the value of r knowing that 360' < r < 450..
t = 396.9'

b) If the point P(r) ts located in the 4th quadrant,
1 , determine the y-coordinate 5in f. sin f = -0.6
2' deduce, in degrees, the value of r knorving that 270" < t < 360".
3. deducg in degrees, the value of r knowing that 630" < t < 720".

l5- A trigonometric point P(r) has an x-coordinate of cos r : -0.6.
a) If the point P(r) is located in the 2nd quadrant,

1 . determine the y-coordinate 5in 1. sin r = O.8

2. deduce, in degrees, the value of r knowing that g0. < , < 1g0o.
t = 53.1"

3. deducg in degrees, the value of r knowing that 450" < , < 540".
t = 413.7"

t = 323-7"

t = 683.1"

b) If the point P(r) is located in the 3rd quadrant,
1. determine the y-coordinate 5irr f. sin r = -O.8
2. deducg in degrees, the value of r knowing that l g0. < t < 270".
3. deduce, in degrees, the value of r knowing that 540' < r < 630".

t = 233-1"

t = 593.7"

I 6- A trigonometric point p(r) has a y-coordinate of sin r :
a) If the point P(r) is located in the lst quadrant,

1. determine the x-coordinate cos r. .o" r = #
2' deduce, in degrees, the value of t knolving that 0" < t < g0". t = 22.6"

b) If the point P(r) is located in the 2nd quadrant,

5

t.1

. -121. determine the x-coordinate cos r. "ot 
t = ii

2. deduce, in degrees, the value of r knowing that g0. < r < 1g0". t = 157.4"
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